FOB - Lebensohl Night

- Wednesday 18" May 2022 - ‘Slow Shows’

AAQ108 Board 1 : Dealer North : Love all
vJ62
o A52 West North East South
+«QJ8 INT 24 2NT
A73 AaKJ9654
vQ3 v A8 Pass 3% Pass 3v
+KQ1064 +J9
*A732 #1065 All Pass
a2 To show a weak hand that wants to play in 3¥ - South
vK109754 starts off with 2NT (Lebensohl), North must bid 3% and
+873 now 3v from South ends the auction.
K94
HCP Makeable contracts || If South were to bid 3v immediately that would show 13+
14 N ol ; d NlT points and 5 hearts asking North to choose between 3NT
9 9 S 3 T- 11| and4v.
8 El1|a]-[a1]- . ,
Witz -T2~ !f EEW compete to 3a they will go two down and that will
be bad result for them if it's doubled.
AaA84 Board 2 : Dealer East : NS vulnerable
v1074
+109654 West North East South
%105 INT 2v
AaKQ975 AJ62
v32 vAS8 3a Pass 44 All Pass
¢ A73 +KQ82 . . . . .
2KJ4 -1-Q232 West's 34 is a ‘forcing’ bid showing points for game and a
~103 5-card spade suit asking East to choose between 3NT and
vKQJ965 44.
+J Holding 3 card spade support, East should choose 4 4.
&A976
HCP Makeable contracts || |f West wanted to stop in 3a he would bid 2NT first and
A N ¢ ; ‘ N_T then over East’s forced 3& bid, he would bid 3s.
13 12 S 2| -|-
11 E[3[3]-[4]-
w|3[3]-]4]-
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A83 Board 3 : Dealer South : EW vulnerable
vKQJ
+A973 West North East South
*QJ54 INT
AK109765 a42
vA7 v 109854 24 3NT All Pass
;-7Qé] 10 ;2513’9 Playing ‘Slow Shows’ Lebensohl, North’s 3NT shows a
AAOJ raise to 3NT without a spade stopper. With a spade
v 63QZ stopper he would bid 2NT first and then 3NT.
¢ K82 South has the spade stopper so he passes 3NT.
K832
Hcp Makeable contracts 1| If South did not have a spade stopper then he would know
% | ¢ | v | a|NT|| to avoid 3NT and he would bid his lowest 4-card suit.
13 N{2]|3[1]-][3
10 4 s[3[3]1]-]3
13 El-|-[-[a]-
W 1] -
A AKQ1064 Board 4 : Dealer West : All vulnerable
v 108
+ K106 West North East South
+109 INT 24 3NT Pass
A852 aJ3
vAJ62 vKQ3 4 Pass 5& All Pass
;géBZ ;ﬁ‘?;i’ Playing ‘Slow Shows’ Lebensohl, East's 3NT shows a
207 raise to 3NT without a spade stopper. With a spade
v9754 stopper he would bid 2NT first and then 3NT.
+8542 West does not have a spade stopper so he knows to avoid
*876 3NT and he would bid his lowest 4-card suit i.e. 4.
HCP Makeable contracts
|| v|a]|NT|| East can pass that or raise to 5& - anything is better than
12 N - .
u S playing in a doomed 3NT.
0 E|[5]2[4[-]1
wls|2[4]-]1
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AA83 Board 5 : Dealer North : NS vulnerable
vAJ92
+QJ West North East South
Q832 ANT 24 34
A96 AaKQJ1072
v1074 v65 Pass 4e All Pass
¢ K10642 +853
%1096 & A7
a54 South’s 34 is ‘Stayman’ showing 4 hearts without a spade
vKQ83 stopper.
¢ A97
*KJ54
HCP Makeabl tract
a_,_ea ‘e C,On Lac,\TT North had an easy 4 bid.
3 14 10 g j j - 1 If South had 4 hearts with a spade stopper he would have
13 E|- -2 -] bid 2NT first and then 3a on the next round.
W 1] -
AJ1076 Board 6 : Dealer East : EW vulnerable
v96
+K8762 West North East South
%98 INT 2v
AaKQ83 AA92
vA42 v83 2NT Pass 3% Pass
¢ A3 +QJ104
£31054 *AK63 3v Pass 3NT All Pass
A 54 West’s sequence of 2NT first and then 3v is ‘Stayman’
v gSQJ 1075 showing 4 spades with a Heart stopper.
.
*Q72 East has an easy 3NT bid.
HCP Makeable contracts .
=1+ lvlalInTl| If West had 4 spades without a spade stopper he would
4 N 1 - || have bid 3¥ on the first round.
14 14 s{-|-[a]-]-
8 E[4[3]-[4]4
w|4(3 4|4
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AKQ83 Board 7 : Dealer South : All vulnerable
v942
+ A3 West North East South
«KJ54 INT
aJ7 A 10654
vKQJ1075 v A6 2v 3v Pass 44
+ K6 98754
#1076 £93 All Pass
AA92
v83 _ . .
+QJ102 North’s 3# is ‘Stayman’ showing 4 spades without a heart
*AQ82 stopper.
HEP Mal:eakile CfntLaC:\TT South knows that 3NT is doomed so he bids 44 or better
13 N|5[3[1]4]1]]still 4a deciding to play in the 4-3 spade fit when he has
10 4 S[5]3]|1[4]1]|the doubleton heart.
13 E{-[-]-]-]-

W - || If North had 4 spades and a heart stopper he would bid
2NT on the first round and then rebid 3% over South’s
forced 3« bid.

A AKQ1076 Board 8 : Dealer West : Love all
v972
+J10 West North East South
*J4 INT 24 3NT Pass
A 854 A32
vAJ6 vKQ3 4 Pass de All Pass
+Q62 ¢ AK9873
& AQ52 & K3
aJ9 Playing ‘Slow Shows’ Lebensohl, East's 3NT shows a
v 10854 raise to 3NT without a spade stopper. With a spade
*+54 stopper he would bid 2NT first and then 3NT.
%109876 .
HCP Makeable contracts || West does not have a spade stopper so he knows to avoid
# | e |v]|a|NT|| 3NT and he would bid his lowest 4-card suit i.e. 4.
11 N -
13 15 S - || East can bid 4 or 5¢ - either is better than playing in a
1 E121513111111 doomed 3NT.
wl2[5[3]1]1

If East had a raise to 3NT with a spade stopper he would
have bid 2NT first and then rebid 3NT over West’s forced
3 bid.
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AK83 Board 9 : Dealer North : EW vulnerable
vA54
+ A6 West North East South
*QJ54 ANT 2v 2NT
aA9542 aJ10
v96 vKQJ1082 | Pass 3% Pass 3e¢
52 + 104
#A1096 #K82 All Pass
4Q76 South is showing a weak hand that wants to play in 3. If
v73 South wanted to show a good hand with diamonds he
+KQJ873 would bid an immediate 3.
73
HCP Makeable contracts
S| o|v|a|NT
14 N 2] -1-11
8 10 s{-[13]-[-]1
8 Ela|-[2]1]-
w1 3[1]-
A5 Board 10 : Dealer East : All vulnerable
vJ9842
+ AO82 West North East South
«Q105 AINT 24
A43 AaAQ98
vKQ3 vA6 Dbl All Pass
+QJ53 ¢ K76
«K874 %J932
aKJ10762 West’'s double shows a normal 2NT bid i.e. an invite to
v 1075 3NT. On this hand East will be only too delighted to pass
+104 the double and leave South to flounder in 2 ax-2.
& A6
HCP Makeable contracts
w|o|v|a|NT
7 N -
11 14 s{-]-]-1-
8 E[3[2]1]1]2
wl[3[2]1]1]2
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A94 Board 11 : Dealer South : Love all
vKQ3
+QJ53 West North East South
*KQ74 INT
AaKJ10765 a2
vJ9 v1087542 |24 3NT All Pass
;.i‘olgg ;i‘éé Playing ‘Slow Shows’ Lebensohl, North’s 3NT shows a
AAO83 raise to 3NT without a spade stopper. With a spade
vAg stopper he would bid 2NT first and then 3NT.
¢+ K76 South has the spade stopper so he passes 3NT.
%J932
Hcp Makeable contracts 1| If South did not have a spade stopper then he would know
% | ¢ | v | a|NT|| to avoid 3NT and he would bid his lowest 4-card suit.
13 N{4[|3|1[1]4
9 4 sl4|3[1]2]4
14 El-[-|-[-1]-
W -
aA42 Board 12 : Dealer West : NS vulnerable
vAJ10976
+ A1082 West North East South
=6 INT 2v 2NT Pass
A AKJ6 a93
v83 vKQ4 3% Pass 3NT All Pass
+ K76 +QJ53 Playing ‘Slow Shows’ Lebensohl, East’s sequence of 2NT
%J932 *KQ74 ) :
2Q10875 followed by 3NT shows a raise to 3NT with a heart stopper.
v52 Without a heart stopper he would bid 3NT on the first
094 round.
+A1085 West has an easy pass of 3NT.
HCP Makeable contracts
| o]|v|[a|NT
9 N -
12 13 s|-|- - |-
6 E[3]3 1]4
w|3[3 1]4
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AKQJ3 Board 13 : Dealer North : All vulnerable

vQre32 West North East South

¢ 54

87 Pass 3NT Pass

a2 A754

v AK94 vs G All Pass

¢+ AK872 +Q3 East's 3NT opening shows a solid club or diamond
%942 +*AKQJI1053 | gyit and little or nothing outside of the suit.

A A10986

vJ105 Solid means 7 cards headed by AKQJ or 8 cards

+J1096 headed by AKQ.

*6 West can count on East to produce 7 club tricks
and together with West'’s 4 tricks and a spade ruff
in the west hand — comes to 12 tricks — so West
can respond 6.

AaA432 Board 14 : Dealer East : Love all

vAK1065 West North East South

74 Pass Pass

%43 1la 2v 24 Pass

AKQJ65 A 1097 4a All Pass

v383 v974

¢+ AK62 +QJ9 North can defeat this contract by leading hearts at
+A10 «+KQJ9 every opportunity.

:g 32 Declarer ruffs the third heart at trick 3 and now North

+10853 must hold up his aA until the third round — now a

&£87652 fourth round of hearts will promote North’s a4 to the

master trump!
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*J7

A642 Board 15 : Dealer South : NS vulnerable
v- West North East South
+J10983 1a
*+Q9764 2v Pass 4v All Pass
AaQJ a8753
vAJ9643 vK872
+A64 oK?2 South will open 1& or 1a or INT (15-17) and most
%83 *KJ5 E/W’s will end up in 3% or 4.
4+ AK109 If declarer gets a spade lead he should have no
: 8%055 trouble making 10 tricks if he is paying close attention.
%A102 You will discover that South has a balanced hand and
if N/S are playing a weak No-Trump then the fact that
HCP Makeable contracts|| g th did not open 1NT means he does not have 12-
3 N ; ; ' ; N_T 14 so therefore he has 15+ points....which means that
12 10| [s{3[3[-]2[-]| he musthave the %A - so when declarer is eventually
15 E|-]-[4]-]2]||with the club guess he will know to play the J.
W[-|-[4]-]2
A752 Board 16 : Dealer West : EW vulnerable
v 104 West North East South
+QJ84 1a Pass 2¢ Pass
«Q1092 3 Pass 4 Pass
4 AK943 4QJ10 ANT Pass 5 Pass
vAQ2 v KJ7 5¢ Pass 5v Pass
¢7 ¢A952 64 All Pass
*A865 K43
486 Making 12 tricks will be a good score whether you are
V98653 in4a or 6a.
+K1063

It looks like declarer has only 11 tricks i.e. 5 spades,
3 hearts, 1 diamond and 2 clubs.

However if declarer decides to ruff 3 diamonds in his
hand, he will make 12 tricks i.e. 3 spades (QJ10), 3
hearts, 1 diamond, 3 diamond ruffs and 2 club tricks.
This ploy is known as a ‘Dummy Reversal'.
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' WAS)
vAKQ10
+9863
& A87
A A10984 aKJ3
v52 vJ74
* KJ *+AQ
&KJ93 % Q10642
AaQ52
v9863
¢107542
&5
HCP Makeable contracts
| o|v|a|NT
13 N|l-]2]2
12 13 S|-|2]|2]|-]-
2 E|l4]|-]-]12]|2
Wi4|-]-12]|2

Board 17 : Dealer North : Love all
West North East South

INT Pass 2%
24 Pass 3a Pass
44 All Pass

South’s stayman 2« bid is a good move- he knows
INT is doomed and he can pass whatever North
replies.

E/W should still land in 3a or 4s.

North leads v AKQ and declarer ruffs the third round.
West has to lose one more trick to the #A so if he can
guess which defender has the aQ he will make 10
tricks and a good score.

If declarer simply thinks to himself ‘North opened 1NT
— s0 he is the most likely defender to have the aQ —
his thinking is flawed.

Declarer should be thinking along the following lines:

North opened 1INT (12-14) and has shown 9 points
(vAKQ). He cannot have both #A and aQ because
that would give him 15 points. Neither can he have
none of those cards because then he would not have
12 points.

So North has one of those cards.

If it is the aQ then North will not have enough points
for his INT opening. So by a process of elimination —
North has the A and South has the aQ.
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AAQJ653

v53

* KJ

®742
A4?2 a7
vJ1098 vAKQ72
¢ A975 + Q1043
%1053 %~K96

A K1098

v64

+862

~AQJ8

Board 18 : Dealer East : NS vulnerable

West North East South
lv Pass

2v 24 3e 4a

All Pass

North will find himself in 3a or 4a and if he can make
10 tricks he will earn his side a great result.

Against first class defence, East will lead vA and
West will follow suit with the vJ — showing +J109.
This will allow East to underlead hid remaining heart
honours at trick 2 and put West on lead for trick 3.

Now when West switches to a small diamond,
declarer has to guess whether to play his ¢J or his
+K. Brilliant defence — no other defence troubles
declarer because declarer has 10 easy tricks i.e. 6
spades and 4 clubs.

If declarer is in 4a then he can afford to lose one
diamond trick but not two so he has to guess correctly
to rise with the ¢ K here at trick 3.

If declarer is to make 10 tricks, then East has to hold
&K and if East has «K then West needs ¢ A to be able
to make up his 6 points for his 2v raise.
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